
6 3 
18.4 lb ft 

REV 0/02.24.2021

2.9 lb ft 

1 4 

5 

S13 

1. 

TRIAN 

Installation&Maintenance Instructions 

4xM8 Washers 

2. 

4xM8 Nuts 

1. 

2. 

A 
 Inch 

B 
Inch 

C 
 Inch 

D 
 Inch 

ANCHOR 

15 3/4 
MIN 1 

3
/16 

7 7/8 3 5/8 M8  x 7 7/8 

A 

A A 

C D B 

D 

S3 

2XM5 Head Bolt 

S3 

2.2 lb ft 

4xM6 Setscrew 

2 

D 

D 

1.

HEPER USA,LLC

W227 N546 Westmound Drive 
Waukesha,WI 53186 – USA 

Tel: +1 917 244 20 32 
infoUS@hepergroup.com 
www.heperlighting.com



 

 

7 

8 

9 

11 

10 

MONTAJ TALİMATLARI

Ürününün zemine montajını yapmak için;

1. Ürünün montaj yapılacağı zemin düz olmalıdır.
2. Verilen beton ölçülerine göre zemindeki boşluk ayarlanır.
2.1. Ürünün bağlantı deliklerini hizalamak için, ankraj plakası görseldeki gibi kullanılır.
2.2. Ankraj saplaması, beton içerisine zeminden minimum 30 mm yukarıda olacak şekilde

sabitlenir. 
3. Ankraj plakası, betondan çıkan saplamalara pullar ve somunlar yardımıyla 25 Nm tork ile

montajlanır. ( 4 Adet, M8 Pul ve 4 Adet, M8 Somun ).
4. Bolardın zemine montajı;
4.1. Zeminden gelen kablo ile üründen çıkan kabloyu birleştiren soket birbirine takılır.

Not 1: Kabloların birbirine bağlanmasına yarayan soket ürün ile birlikte gelmemektedir.
Lütfen ürüne uygun, minimum IP66 sertifikalı soket tedarik edininiz.
Not 2: Ürünü sökmek gerektiğinde soketin birbirinden ayrıldığından emin olunuz.

4.2. Bolard ok yönünde ankraj flanş plakası üzerine oturtulur.
5. Bolard yanlardan setskur cıvata yardımıyla 3 Nm tork sıkma kuvvetiyle sabitlenir. ( 4 Adet,

M6 Setskur Cıvata ).

LED sürücüye ulaşmak için;

Not: Bu işleme başlamadan önce ürüne gelen elektrik bağlantısı kesilmelidir.
6. Üst kapak cıvataları sökülür ve üst kapak çıkartılır. ( 2 Adet, M5 Imbus Cıvata ).

NOT: Ürünün sürücüsü değiştirildikten sonra üst kapak M5 Imbus cıvataları 4 Nm tork ile
sıkılır.(2 Adet, M5 Inbus Cıvata)

7. Handra modül ve buat kutusu kablo bağlantı soketleri çıkartılır.
8. Buat kutusunun çıkarılması;
8.1. Buat kutusu sacını tutan yıldız silindirik başlı cıvatalar sökülür. ( 2 Adet, M5 yıldız silindirik

Cıvata ).
Not: LED sürücü değişimi tamamlandıktan sonra yıldız silindirik başlı cıvatalar yerlerine 1.5
Nm tork ile sıkılır. ( 2 Adet, M5 yıldız silindirik başlı cıvata)

8.2. Buat Kutusu bolardın içerisinden çıkartılır.
9. LED sürücüyü buat kutusundan çıkarmak için;
9.1. Buat kutusu üzerindeki bombe başlı cıvatalar sökülür. ( 4 Adet, M4 Bombe Başlı Cıvata ).

Not: LED sürücü değiştirme işlemi tamamlandıktan sonra buat kutusunun M4 Bombe Başlı
Cıvataları 2 Nm tork ile sıkılır.( 4 Adet, M4 Bombe Başlı Cıvata)

9.2. Buat kutusu kapağı yerinden çıkartılır.
10. LED sürücüyü tutan yıldız silindirik başlı cıvatalar sökülür. LED sürücüsü yerinden çıkarılır.

Not: LED sürücünün hasar almamasına dikkat edilmelidir.

Aydınlatma modülünü sökmek için;

11. Handra modülü sökmek için;
11.1.Handra modülü tutan cıvatalar sökülür. ( 2 Adet, M4 Havşa Başlı Güvenlikli Torx Cıvata ).

Not: Handra modül değiştirme işlemi tamamlandıktan sonra torks anahtarıyla 2 Nm torkla 
sıkılır.(2 adet, Havşa Başlı Torks Güvenlik Cıvatası.)

11.2.Handra modülü yerinden çıkartılır.
11.3.Handra modülünden çıkan kablo ile LED sürücüden kabloyu birleştiren soket sökülür.

Not1: Handra modülün hasar almamasına dikkat edilir.
Not2: İkinci modülü sökmek için de 11. adımdaki işlemler uygulanır.

2. 

2xM5 Flat Head Screws 

1.1 lb ft 

S2.5 
 

1.4 lb ft 

4xM4 Round Head Bolt 

2xM4 Countersunk Torx Security Bolt 

2xM3 Flat Head Screws 

1.1 lb ft 

1. 

2. 

1. 

1. 

2. 

3. 

1.4 lb ft 

English

ASSEMBLY INSTRUCTIONS

Luminaire installation onto the ground;

1. The surface which the luminaire will be mounted must be flat and level.
2. The space on the floor is created according to the given concrete dimensions.
2.1. The anchor plate is used as shown in the image to align the connection holes of the
        product.
2.2. The anchor bolt is fixed in the concrete at a minimum of 30 mm above the ground.

3. The anchor plate is mounted to the studs coming out of the concrete with the help of
washers and nuts with 25 Nm torque. (4 Pieces, M8 Washers and 4 Pieces, M8 Nuts).

4. Assembly of Bollard;
4.1. The socket that connects the cable coming from the floor and the cable coming from the 
        product is attached to each other.

Note 1: The socket used to connect the cables is not supplied with the product. Please 
supply a socket with minimum IP66 certification suitable for the product.
Note 2: When you need to disassemble the product, please make sure that the socket 
is disconnected from each other.

4.2. The bollard is placed on the anchor flange plate in the direction of the arrow.

5. Bollard is fixed from the sides with the help of setscrew bolts with 3 Nm torque.
(4 Pieces, M6 Setskur Bolt).

Accesing LED Driver;

Note: Before starting this process, the electrical connection to the product 
must be disconnected.

6. Top cover bolts are removed and the top cover is taken off. (2 Pieces, M5 Imbus Bolt).
Note: After the driver of the product is changed, M5 Imbus bolts on the upper cover are
mounted with 4 Nm torque. (2 pieces, M5 Inbus Bolts)

7. Handra module and junction box cable connection sockets are removed.
8. Removal of Junction Box;
8.1. The Phillips head bolts holding the junction box sheet are removed.

 (2 pieces, M5 phillips head bolts).

Note: After the LED driver replacement is completed, the Phillips head bolts are mounted 
with a torque of 1.5 Nm. (2 pieces, M5 Phillips head bolts)

8.2. Junction Box is taken out from inside the bolard.
9. To remove the LED driver from the junction box;
9.1. Curved bolts on the junction box are removed. (4 Pieces, M4 Round Head Bolt)

  Note: After the LED driver replacement is completed, the M4 Round Head Bolts of the 
      junction box are mounted with a torque of 2 Nm. (4 pieces, M4 Round Head Bolts)

9.2. Junction box cover is taken off.

10. The star cylindrical head bolts holding the LED driver are removed.
The LED driver is taken off.

Note: Please be carefull not to damage the LED driver in the process.

Replacing the lighting module;

11. To replace Handra Module;
11.1. The bolts holding the Handra module are removed. (2 Pieces, M4 Countersunk Head
        Safety Torx Bolt).

Note: After the Handra module replacement is completed, it is mounted with a torque of 
2 Nm with a torque wrench. (2 countersunk Torx Security Bolts.)

11.2. The Handra module is removed from it's place.
11.3. The cable coming out of the Handra module and the socket connecting the cable from 

the LED driver is removed.

Note1: Please be carefull not to damage the Handra module.
Note2: In order to remove the second module, the procedures in 
step 11 are applied.




